Math 232 Calculus 2 Spring 15 Midterm 2a

Name: SBLM’h'M S

e I will count your best 8 of the following 10 questions.

e You may use a calculator, and a 3 x 5 index card of notes, but no phones or
other notes. ;
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(1) Find /\/1 — 4x? dzx.
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(4) Find / N
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(5) Find the degree three Taylor polynomial centered at 2 = 0 for the function
f(z) = sin(z?).
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(6) Does the series Z
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(7) Does the series E — converge or diverge? Explain your answer.
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(8) (a) Use partial fractions to find an explicit formula for the partial sum
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(b) Use your answer to (a) to show that the sum converges, by finding
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(9) (a) Find a formula for the partial sum s, = 3 T 1 + G + o for example
by comparing s,, with 1s,.

(b) Use your answer to (a) to show that the sum converges, by finding
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(10) Show the series Z
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converges, by any method.
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